
Quelle est votre réponse sur un X d’appel en Sud avec les mains suivantes ? 

13 V : Personne 
Main de Sud : 

 V962 
 R3 
 AV742 
 X2 

Donneur : Ouest 

 Sud Ouest Nord Est 
    
    
    

 

 
 

 

14 V : Personne 
Main de Sud : 

 AD852 
 RDV9 
 85 
 52 

Donneur : Ouest 

 Sud Ouest Nord Est 
    
    
    

 

 
 

 

15 V : Personne 
Main de Sud : 

 96 
 RD852 
 AD52 
 96 

Donneur : Ouest 

 Sud Ouest Nord Est 
    
    
    

 

 
 

 

16 V : Personne 
Main de Sud : 

 V963 
 AD85 
 RD3 
 85 

Donneur : Ouest 

 Sud Ouest Nord Est 
    
    
    

 

 
 

 

17 V : Personne 
Main de Sud : 

 R963 
 A2 
 AV852 
 96 

Donneur : Ouest 

 Sud Ouest Nord Est 
    
    
    

 

 
 

 

18 V : Personne 
Main de Sud : 

 DV85 
 R963 
 96 
 R52 

Donneur : Ouest 

 Sud Ouest Nord Est 
    
    
    

 

 
 

 


